oetive. (1T verify i additio |
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Jaterials Required (a) Tw

| Theory

|
Procedure St
: €P 1. Take a griq Paper. a few red-coloyred slips and

|

o
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25 |

Activitieg

Activity_ 1

Cﬂlnlnutam,e

(i) to verify ¢
1at multip)ye
' mug

fctlr whole Numbers, ang]
F
ative [or whole Numbers

ach SqQuare |
s of {J]I’I‘IEI‘I
; 1 rent col reiis SfOHlCHIXII’.‘m
nt coloy red and green) and mrasurlng‘

alive, eg, 4 +5=-5. 4,
UMmutative, e.g, 3 % 4 = 4x3

Step 2. In one row
" ol squares on (he rid
followed by 5 green-coloured s“p;—’ paper, paste 4 red-coloured slips

Step 3. In another row ol s
quares below the above-me ;
coloured slips followed by 4 red-coloured sl[ps.mmmd O paste 5 green-

Step 4. We observe that the number of squares covered in the first row is equal (o
the number of squares covered In the second row. This shows ‘ma[

4+5=5+4.

I
J
|
J
|
l

] ] L
L
]
||
HER
Hl
L] ]
. = 1 red-ccloured slp
D = 1 green-coloured slip

sl

L[] |

L]

| |

L[] |

HEEEEER
()

er grid paper, some red-coloured slips and some green-coloured

slips. 245
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Mathematics for Class 6

ach on Lthe grid pa
Step 6. Paste red-coloured slips in 3 rows of 4 squares - r3 i‘r{: ==
s of 3 squares eq
Step 7. Moving below, paste green-coloured slips in 4 rows que ach,
s covered by the red-coloured g); x

Step 8. We observe (hat the number of square | .
) reen-coloured slipg
equal to the number of squares covered by the g Ps. This;

shows that3 x 4 = 4 x 3,

. = 1 red-coloured slip
D = 1 green-coloured slip

(L)

Result It is verified that:

(i) Addition is commutative [or whole numbers.
(ii) Multiplication is commutiative for whole numbers,

Remarks The above procedure can be re
peated for other numbers, to verif
property of addition and multiplication of whole numbers. Y the commutate

e
——
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omectwe To find p

waterials Required (
[

(
heory To check

procedure Step 1.
Step 2.
Step 3.

divisibility by 2. 3.

—— e
Activity-2
10 100 by the me

247

rime numbers from |

al Grid paper } thod ‘sieve of Eratosthenes'
‘ r 1aving SOz

bl A black sketel le:r auares of dimension 1 em x 1 em

Cl A pair of scissors

whether 5 numhrr less 1l

Sand 7 only.,
Cut out 3 10 x

an 100 1s a prime number or not, we have to test its

. 10 grid from the grid paper.
Write numbers

from 1 to 100 i this grid. as shown In the fgure (1),
Cross ouy 1.

Step 4. Encircle 2 and cross out remalining multiples of 2, Le., 4. 6. 8. 10, .... 100,
Step 5. Encircle 3 and cross oy remaining multiples of 3, f.e., 6,9, 12,15, ..., 99.
Step 6. Encircle 5 and cross out rem; Hning multiples of 5 . 10, 15, 20, 25, ..., 95.
Step 7. Encircle 7 and ¢ TOSs oul remalning Illllllj[l]lhllr 7.00e. 14, 21, 28, 35, ..., 91,
Step 8. Encircle each one of the remaining numbers.
Step 9. The grid appears as shown in the figure (1),
if2(sfalsTel7]s]o]0] [XEXEXGERRD
1|2 (3 (4|5|6|7|8]|9]10 |,1, 2 )\ 3 A5 )8 7) 1_*;_
- T T T —t——1— - | O :
IREPARE 1415 16 17 18 19/ 20 ’ 1)l 12y |1‘| i IGIEG I?" IG "|' :
—— ---——--—T- —_— - — = m— —* I ] I,Lllgd
2122 23 2425 26 27 28 29 | 30 21‘22 ,n\zi iﬁllﬁ 2" .}Es\
] [ . j ] ! - [ 36 .]'7
31 i g2 | 33 | 34 d6 | 37 | 38 | 39 ml A L—:--l |+

J-uf;z a3 | 44 |

- == -

45 46 | 47 48 1 49 | 50 |

H, % | 26 (47) _-:ai_-m' fﬁd‘

._'___. — —

i

51 ml!s:n 54 ,ram 56 | 57 | 56 (5
5] :12,53;54 .}5.5[1'5_..‘ ,_JH;5!'|GD! 3] - )
| | an | aal 65| 66| 67| 68 69| 70
IJGI 62|53!G—1Jl’3.:lhﬁif3;5; 9| 70|
=179 | 72 | 72 | 75| 79 s{:‘
| 71| 72| 73| 74 -'5‘?5‘17’:{73‘
| g2 | 83 | B4 Hfi 86 87 ' 88 89 | 90
81| & . sl i) Gk i
oo | 03 | 04| 95 | 96 | 97| 98| 99 mnl
albn 1) Sieve of Eratosthenes
()
' ‘ - > bers ar
f Eratosthenes shown in the figure (i), all the cnci_rnlcd mg:;rq
Result In the sic” P[JD m;d all the crossed numbers excepl | are composile numbers.
ers :
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